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TFCS Example Correction

In the latest version of the TR 45.902 on FLO (G2-030196), the example on TFCS configuration in section 9.2.2 contains a figure that can be clarified to show transport block sizes of zero bits that are used in the TFCs to address inactive transport channels.

The attached CR clarifies figure 3 in the TR 45.902:
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9.2.2
Example


In this section, CTFC is elaborated by an example: circuit switched AMR over FLO. For the support of AMR, three transport channels need to be configured:


-
TrCH A for class A bits and inband bits;


-
TrCH B for class B bits;


-
TrCH C for signalling.


Figure 3 below depicts the proposed TFCS for this AMR example.
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Figure 3: TFCS Example.


Six TFCs are configured. The active codec set contains 4 AMR modes (12.2 kbit/s, 7.95 kbit/s, 5.90 kbit/s and 4.75 kbit/s) requiring 4 different TFCs. Additionally one TFC is needed for SID_UPDATE and SID_FIRST where 41 bits are sent on TrCH A only, and another one for FDCCH where 184 bits are sent on TrCH C only. For each transport channel, the number of transport format(s) required is therefore:


-
5 transport formats for TrCH A (0, 83, 77, 57, 41); L1 = 5  


-
5 transport formats for TrCH B (0, 163, 84, 63, 56); L2 = 5


-
2 transport formats for TrCH C (0, 184); L3 = 2


The Pi values can then be calculated for each transport format:


-
 P1 = L0 = 1;


-
P2 = L0 ( L1  = 1 ( 5 = 5; 


-
P3 = L0 ( L1 ( L2  = 1 ( 5 ( 5 = 25.


And for the CTFCs the values are:


-
 CTFC(1, 1, 0) = (1(1) + (1(5) + (0(25) = 6;


-- TFC1 for AMR 12.2 kbit/s


-
 CTFC(2, 2, 0) = (2(1) + (2(5) + (0(25) = 12;

-- TFC2 for AMR 7.95 kbit/s


-
 CTFC(3, 3, 0) = (3(1) + (3(5) + (0(25) = 18;

-- TFC3 for AMR 5.90 kbit/s


-
 CTFC(4, 4, 0) = (4(1) + (4(5) + (0(25) = 24; 

-- TFC4 for AMR 4.75 kbit/s


-
 CTFC(5, 0, 0) = (5(1) + (0(5) + (0(25) = 5; 


-- TFC5 for SID_UPDATE and SID_FIRST


-
 CTFC(0, 0, 1) = (0(1) + (0(5) + (1(25) = 25. 

-- TFC6 for FDCCH
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